Assignment 25

Ex 16.3.2 Find an f so that Vf = (2%, —y*), or explain why there is no

such f. (answer) »P @
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Ex 16.3.3 Find an f so that Vf = (ze?, ye®), or explain why there is no
such f. (answer) T’ (;
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Ex 16.3.5 Find an f so that Vf = (ycos z, sinz), or explain why there
is no such f. (answer)
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Ex 16.3.7 Find an f so that V f = (yz, 2z, zy), or explain why there is
no such f. (answer)
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Ex 16.3.8 Evaluate | (102! — 22y%) de — 322y dy where C is the
c
part of the curve z° — 5z%y? — 7z% = 0 from (3, —2) to (3, 2). (answer)
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Ex 16.3.9 Let F = (yz, zz, zy). Find the work done by this force field
on an object that moves from (1,0, 2) to (1,2, 3). (answer)
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